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SOCIOLOGY 
Full marks : 90            Time : 3 hours 
General instructions: 
i. Approximately 15 minutes is allotted to read the question paper and revise the 

answers. 
ii. The question paper consists of 32 questions. 
iii. Marks are indicated against each question. 
iv. Answers to questions carrying 1 mark should not exceed one sentence. 
v. Answers to questions carrying 2 marks should not exceed 50 words. 
vi. Answers to question carrying 4 marks should not exceed 100 words. 
vii. Answers to questions carrying 6 marks should not exceed 200 words. 
viii. Answers to questions carrying 8 marks should not exceed 300 words 
N.B: Check that all pages of the question paper are complete as indicated on the top left side.  

(The figures in the margin indicate full marks to the questions) 
 Choose the correct answers from the given alternatives from questions 1 to 5. 
 
1. How many languages and dialects are there in India according to Grierson?            1 

(a) 179 languages and 544 dialects      (b) 153 languages and 179 dialects            
(c) 544 languages and 179 dialects      (d) 566 languages and 169 dialects 

 
2. Uttarkhand was  formerly known as:-                                          1        

(a) Uttar Pradesh    (b) Uttaranchal   (c) Udaipur          (d) Ujjain 
 
3. Affinity is the relationship based on:-                      1        

(a) Kinship    (b) blood       (c) widow-remarriage (d) marriage 
 
4. Which Naga tribe celebrates Monyu festival?             1      

(a) Phom    (b) Ao       (c) Sumi          (d) Lotha  
  

5. C N G stands for:-                  1 
(a) compressed natural gas        (b) compound natural gas                    
(c) compressed normal gas        (d) control natural gas 

 
6. What is levirate?                 1 
  
7. Which racial group does the Naga belong to?             1 
 
8. Who popularised the term ‘westernization’ in Indian society?           1 
 
9. Which is the most important feature of caste system according to Ghurye?         1 
 
10. What are values?                 1 
 
11. Mention the four linguistic families of India.             2 
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12. What is the meaning of rural-urban distribution?             2 
 

13. Give any two criteria of a non-statutory or a census town.           2 
 

14. What does Article 40 of the Directive Principles of state policy say?          2 
 

15. Give the full form of IAAP and SFDA.              2 
 

16. What is local culture?                 2 
 

17. Write any four salient features of National Population Policy 2000.          4 
 

18. Describe some of the measures adopted to empower women.           4 
 

19. Briefly discuss the advent of Christianity in Nagaland.            4 
 

20. Explain the special provisions created for Nagaland under Article 371 A of the 
Constitution of India.                 4 
 

21. List the characteristics of social movements.             4
              
  Answer any four (4) from Q.22 to Q.27.             4x6=24 

22. What is communalism? Why is it a threat to national integration?          (1+5=6) 

23. Discuss Christian marriage in India. 

24. Who are the Scheduled Tribes? Describe the problems of the Scheduled Tribes in 
India.                            (1+5=6) 

25. Discuss the advent of modern education in Nagaland.  

26. Describe the changes brought about in the Indian education system during the 
British rule. 

27. Briefly discuss R.K Mukherjee’s view on personality and values. 

  Answer any three (3) from Q.28 to Q.32.                3x8=24 

28. Explain any two factors of unity in diversity.             (4+4=8) 

29. Define joint family. Explain the structural and functional elements of a joint family 
system in India.                (2+6=8) 

30. Describe the practice of terrace cultivation.   

31. What are the several factors responsible for the process of westernisation and what 
are its two impacts?                          (6+2=8) 

32. Explain any four implications of globalisation.            (4x2=8) 

   ********************************* 


